No.

VT4 — s A Ry ) — MEARES

20254 4H 1H
m%@g LT AR 3 3 K 3
S T4 St sl 27— 1
el EZEa
T F %4 ™
At 1£ H

N T R

A BB 3@ 9 H

[FE#ERA] 3H21H~6H20H - 9H21H~11H30H

20 = DFTIA I & FT
i & D X 7t % s
a7 — } D N 2777 AFA707 To= | MUEM OARSTE | A/ ORI
MO | BRI K SRS — cm mm I X DR
EL St 24 8 40 BB
%E:E * A v F O M REOVS AR R B M o & K ~F % FEOJT MR SR
Ll \ e =g |7 VAU YU ARG BB
%Q H *j_ ) *i iﬁ @‘Eﬁﬁﬁﬂﬁﬁkuﬂﬁi El:fﬂ ﬁ‘:jIJ ;d, % D jﬁ‘ {£
BRI ISR L ARGy f FAA IR L2 R BRIV - O BN EEEE ke /mi
Afiday ) - b o> i BE AR 5 1 Hh IS FREE - MR EE 27 U — ko E C
i‘é:@ 7K D i 5 T FIAF B FEd KA NERUY/ kRO BERD 60 %
%%f TR B A K OME & [ AT B L O RE & A itk au KEDOBEMEO LR kg/mi
HYHl O W & A B ke /mi HATvp &0 B EED TR UIEEED LR ke /i
TR LTS 2 Bty 7uinsy77o-omi n
i H izl Bt
T A v RN K 4 KR A MRaEHE (% g/ci | 3.04 [NaOeq % |
B O, . - J— 5 Nas0eq
B y . TR L AR PRI D K & SHRERSUT| B o/ad |0k B0
o, TR EOMOSU RO A e e ol e R SR 5 R
O] hers SRR B TR E e AL HZ L R—TE b 2.54 1 2.58 | 3.0%£2.0
Q| PR RAY VA U THTPE A IR kD AFENLHZ L R—VE 5 2.63]2.66| 7.0+2.0
@S (VT)  [RA BSTT RN EE D (V) AlELZ L R—IE 5 2.58 | 3.0%£2.0
1D #2010 RS B 1 T /N2 I pE AL Z L R—[20~10 7.00 | 2.50|2.62| 0.5+0.5
| FAT4020 SR B T EEMENT /N2 [ E AFEJLZ LS —140~20 7.95 2.61]2.62| 0.5+0.5
@ fer1505 |0 I T ELERT /N2 [ AFE L LS—E 15~5 6.35 |2.60|2.62] 0.5+0.5
@
B=AAO 7n-Yy/SV10L AEJK I GEHENE 1 FH) NasOe 1.0
TR 0 791 @)| 4, i % o d
R4 Q) ?
MEM ORI E | %K OFERE  [EK (HEK) - LAEK HERGyY BR %
EUCEM OB W F HOF M K79y RO
e & ke /m’
. N T 7§ | B [z FH T iz 17 n 7l
+
e Te X loTeleo 0@ 0ol 0100
275 158 317 | 162 | 317 | 367 | 419 | 262 1.93
Kt A b 7.5 % | /K % & M K %M B M E 43.4 %
s BHOEERAEA, BRAOERRIOVWTE, WY ALLEET 52065, |'BMIEELE | e O:@:@ 40.0:20.0:40.0
(FHEES) HEHOD:©:Q 35.0:40.0:25. 0

EIEMRMERL S - Bi=6 1

EEEER S - AM=12A1H~3H20H

21H~9H20H

CIRFNANRINERC X 0. 2% L
CIRFNFNFINZRC X 0. 1%




i A& 5 & E
Aic = 5 B4 7t % s
a7 U—hkD R A7v7" AFATYT Te= KB M D I KA A b O FEEE
MO | BRI K SRS —< cm mm WX HEE
EL St 24 8 40 BB
iEEjE v X v b O f OE MO RE R HE MoK K ﬂ“}/f MO RE R
% ; T T H VY R BB
%E H *j_ D *i #E @‘Eﬁﬁﬁﬂﬁﬁkuﬂﬁi *fﬂ T»_EIJ )d_ % D ji {£
BN IR L DX {5 A EHR I G o)) - O AT RS B ke /nd
Sy ) - o o FE R 5 1k ghif R - [EAERE o7 Y — h oiRE C
i‘é:@ 7K D il H T FIA B SEd KA NERUY/ KR BERD L 60 %
% = [ TRANAD B OO TR S OV B 5 AA B e OVBL 5 24 | R i ﬂ-;u KEO BEEO LR ke /i
W= b M & A B ke/m Bt/ 0 BEED TR EED LR ke/mi
ufz”ﬁr %f”E?LZ)*jg 2802 WBEO AT/ TUIAT /T 7 0—-DkE cm
(1) ZEhteti(v) YTHOEREICEY v = 10 %
(2)E A58 (m)
mi = 0- 8580 — 29.2 N/mf m2= o — 30,0 N/mf
1— —— 1—
100 100
Xo>T m = 30.0 N/mf
(3)KEA FEE(W/C) m = -13.7 + 25.3 X C/W
W/C = 25.3 = (30.0 + 13.7) X 100 = 57.5 %
W/C = 57.5 %
(4) BALKE (W) YTHOERIZEDY W = 158 ke/m
(5)HfSrE A F&E(C) C =W + (W/C) X 100 = 158 = 57.5 X 100 = 275 kg/m
Cv= C + B = 275 = 3.04 = 90 L/m
(6) 225 & (A) A = 4.5 % X 1000 = 45 L/md
(7)BNCHEME(G) HBILLOEKICELY MNEEFE = 0.655 m/m EFER = 61.0 %
Gv = 0.655 X 1000 X 61.0 +— 100 = 400 L/m
Glv = Gv X 35.0 % = 140 L/m Gl= GIvXFRWEE = 140 X 2.62 = 367 kg/m
G2v = Gv X 40.0 % = 160 L/m G2= G2UXKREEE = 160 X 2.62 = 419  kg/m
G3v = Gv X 25.0 % = 100 L/m G3= G3vXEWEE = 100 X 2.62 = 262 kg/m
(8) HALMEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 693 = 307 L/m
Slv = Sv X 40.0 % = 123 L/m S1= SIvXEWEE = 123 X 2.58 = 317 kg/m
S2v = Sv X 20.0 % = 61 L/m S2= S2UXHKHEE = 61 X 2.66 = 162  kg/m
S3vy = Sv X 40.0 % = 123 L/m S3= s3v><i'%$mﬁf“ = 123 X 2.58 = 317 kg/mt
(9)MEM=E(s/a) s/a = Sv = (Gv+Sv) X 100 = 43.4 %
(10) BALIEFAIE (Ad) Ad = C X WINE X HBE = 275 X 0.7000 % X 1.00 = 1.93 ke/m
i & = ke /mi
. N T 7§ b T iz HH T iz e fn vl
Pty Te | X oo el 0o  0lal 0 o0
275 158 | 317 | 162 | 317 | 367 | 419 | 262 1.93
N o/ | gm = 5 o) |'BMIRALL HIEMD:@:0 40.0:20.0:40. 0
KE AL N 57.5 % |Hl & B F| 43.4 % CRARRS) | D - (3 35 0-40. 0-95. 0

kel




